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
 

  

 
 



 


 
 . 

 

 :  

 
  " (traveling 

staircase) "  " (inclined elevator) 
" (magic stairway)  

1900 
" (escalator)  

(elevator) (scala) 
. 



 
 

 
 100

 
. 

 
 

 
 


 

  . 
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 
 





 
 . 

 
 

 
 

 
 




 .  
 

:  

 
 


 

. 

 
 . 

 
 



. 

 . 

 
 . 

 

 : 

-  

- ) 

 
3035. 

  

x1  
 



 

 

x2  

L  

 A  : 
A = H * 1.732 

30  

 
A = H * 1.428 

35 

 H   

 
L = A + x1 + x2 

 

  



 
2,3 

. 
 

 

 



 

 



 


